4 M 5% 8 A31H
R B

35 T 7 A R AN R

B & W N R

OF BxXZH  r-BR=FosASE

HFEIVAROEEFHIEMNRIHBE, TXB2VAEALIEBHAL LT ET,
RDESIIBRESE  BHEREEBNAZLET, TZHOILLREBFELETAH. €O
BBELWAESETISEHEVAEZLET,

-~

FF:wM5F9H4H (A) £%¢5

OREZH <5KK>13:20~14:00

OB = 14

»

OZRKRDOKIZ, IDA—-—F&TEAVAEEZE, LBE (RUYIN) &
ANBRE2IAHARO L, RARBOLVBANVSEI N, £, HTOITXKRIE
TEBSEIV,

ORBNDHLACPHEFADNEBENAIE, XRZ2ITEZBSEI WV,
OBIIBORBVWEIIIRBVEZEZIZNS, ZEEeBBEVVEZLET,
OBRZEDHRNXFLELLDEFNMFTEDOLD, EE - HEZFOHEBFZPETTO

FAEBIRCEEBLSEZI WV, $EEBITOBFIADBREOLAS (BX2%E0H A
FZEBSEIV, KAMRIIHEETT, ) 2. THAEBEVLEZLET,

OREDOHBETEDZD, BEWMANRN—ZAIZBINHY EF4., AFEOFIX. TXD
PUORSTORKREBENL T,



RESBNETE

FAE - M | HB - EHIR HMi4 « BM4 % B
2oy
4}%& %{EA . ~ L
5 0 B EA~1T Z 9 ! X & =
’ (BLEH)
14F 15 H Ao Lok 1 — 1 %%
2 41 SR SNy TEREX 2 — 1 # =
2 1 2 # 1H T8 Ehdbmby TEX 2 — 2 =
34 1 . ) Bo=
. PG 10000 kY REVWEELMLED
2 #H B OH =
4 51 1 18 WEHFIR~Kik - WiTHIEFEF |4 — 1 & =
4 5 2 SRS WHFR~Kik - WiTHEIE -8 F |4 — 2 &=
. What do you want to study?
4 =] =6 _
5 1  H RN RS A Y EeEEELEs |0 o
6 F 141 B HAEORLIFZHLD 6 — 1 % =




